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Proposed algorithm:

-4.80 if var=1.24

1 +5.20 if skew =7.62 & var <-0.50

_ +7.68 if curt <-2.18 & skew < 7.62 & -0.50 = var < 3.38

-4.36 if skew=3.42 & -2.26 <var=<1.24

4 -6.81if curt=4.57 & skew=-3.38 & var=1.24

+3.34 if curt =4.57 & ent=-0.19 & skew < 0.76 &
-0.50=var=1.24

107!

Gradient Boosting:
-3.03ifvar=1.24
+3.47 if skew =7.62 & var =-0.50

+5.65 if curt <-2.18 & skew =< 7.62 & -0.50 < var =< 3.38 GB
1l-4.01ifcurt=-2.18 & skew=3.42 & -2.26 <var=1.24
-5.38 if curt = 4.57 & skew =-3.38 & var=1.24 XGB

+3.41 if curt<4.57 & ent=-0.19 & skew <0.76 & -0.50 =var<1.24 — FCOGB

-3.92 if curt<-2.18 & skew = 7.62 & var < 1.24

-2.76if curt=-0.18 & ent<-0.19 & skew < 0.76 & -0.507 <var=1.24

10—2 {|+5.05if-2.18 <curt=-0.18 & ent = 0.54 & skew <3.42 & 124 <var<3™ test
11- 3.47 if curt = 1.40 & skew = 7.62 & var <-2.26 |

0 20 40 60 80 100
Cognitive Complexity

== train




